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SCHOLARS ACADEMY

a)

c)

c)

a)
c)

c)

[ REASONING ]

. By interchanging the given two numbers (not

digits), which of the following equation will be
correct?

3 7E ) FEmel (3P B Y B MUY FH I W
Fafafaa & & $19-91 afteor wd g

23R 15

1.810 + 15X 60 + 2 - 3 = 300

1.81X6-700 + 2+ 15 =21

Tl 1 3R TG Il Neither | b) FHId | Only |

nor Il

| 3R 11 EHT Bothland Il d) &dd Il Only Ii

Six persons- Shweta, Rashi, Kinjal, Ahem, Jigar and
Rakesh are sitting in a row facing south direction.
Kinjal sits immediate left of Rashi. Neither Jigar nor
Rakesh sits at the end of the row. Kinjal sits second
to the right of Jigar. Shweta sits third to the right of
Rakesh. How many persons sit between Ahem and

Kinjal?
5% iR A, T, Rrora, o, RIR o W
% ufad § gfeor fe=m #t TP IS T

1 b) 2
3 d) aﬂs‘aﬁr None
In a certain code language, '‘NIKE' is coded as '69’

and 'PUMA’' is coded as '57'. How will 'FILA' be
coded in that language?

TS fAf3a SIS Ut § 'NIKE' #) '69' & &0 § PIfsd
forar SITaT @ SR 'PUMA’ &) '57' & =T | SIfSd fpar
STdT €, d JHE YT # FILA' &) 5 UeR Sifsd
far siTem?

80 b) 101
96 d) 75
Select the letter cluster from among the given

options that can replace the question mark (?) in the
following series.

fau v faweul & T I &R Y BT 79 o Y
Frafafea e o uy fag ) @t wfowiftg &=
NI

ELOY, JQJT, OVEO, TAZ), ?, DKPZ

YUFE b) ZGVF

YFUE d) UFYE

Five years ago, the ratio of the ages of Tarun and
Saurabh was 4 : 1. After five years, the ratio of their
ages will be 2 : 1. What is the present age (in years)
of Saurabh?

a)

c)

a)
c)

a)

c)

c)

UTg a9 Ugd TeUT 3R HRY B SR BT U 4 : 1
AT| Ui 9 9T IS ST BT SJUT 2 : 1 TR TRY

Pt gduT AR (@6l 7 forasit 82
14 b) 10
8 d) 12

Shanshank walks a certain distance, say X m,
towards the west, then turns left and walks 35 m,
and then turns right and walks 18 m. From there, he
turns left and walks 9 m, and then turns left again
and walks 60 m. From there, he turns left and walks
9 m, and then turns left again and walks 12 m. He
finally turns right and walks 35 m to reach a point
that is exactly 10 m to the east of the starting point.
What is the value of X?

Ti=Nie U Fifda g, A1 @i X m, afdm @1 8k
Taar g, fbe a1 gaar 8 SR 35 m gaar 7 iR bR
T TS & X 18 m o7l &1 51 & 98 91¢ goaT @
3R 9 m TaaT 8 3R fB? 91¢ gear B 3R 60 m Taar
21 951 A 98 91 ST ¢ 3R 9 m AT § SR fhR a1y
gedr § 3R 12 m Iaa1 81 3id § 98 ¢ gsar & iR
35 m 9P} 39 fdg W ugaan § o URiNS fig &
SAF10m P AR X FTAF R ?

20 b) 22

30 d) 36

Select the combination of letters that when

sequentially placed in the blanks of the given series

will complete the series.

LG_Q_GP_L_PQ_G_Q

&Y b I YU BT 99 T R § 1€ e

2;?:[ M ¥ HfUe ©U d I/ W G B R®A
|

PLP.GLQ
PPLGQL

b) P.QLGPL
d PLQGLP

In a certain code language -

A + B means A is the father of B

A * B means A is the sister of B

A % B means A is the daughter of B

A $ B means A is the son of B

IfL% M+ N*0$P, then How is L is related to P?

e fAf3a S uTaT H -

A+BHTAIRfF A BHTUATR

A*BHTITE P A BP TR

A%BHTISEfH A BB THE

ASBHTISZMPA BHITE

gi%L%M +N*0$Pg alL Py upR Tdfta
?

b) 113'|.'TDaughter
d) 9™ Mother-in-law

dg- Sister
HIdT Mother

In the following question below are given some
statements followed by some conclusions based on
those statements.Taking the given statements to be
true even if they seem to be at variance from
commonly known facts. Read all the conclusions

Mob. - 01141676717,9312712114

Page 2




SCHOLARS ACADEMY

a)

c)

10.

c)

11.

a)
c)

12.

and then decide which of the given conclusion
logically follows from the given statements.
Statements:

Some F are D.

No A is D.

Conclusion:

I. Some F are A.

Il. NoDisA.

I1l. Some F are not A.

T e fresf § ¥ sH-a/A et e T s
BT AMSD TU A SJHT HA/H /2|

PY: %

POF, D

BITA DTE B

e

LPOF AT

I.PED,ATEE

N.$SF,ATEE

o Ay orIRU g b) ey 1 SR gEl

FRAl & No conclusion SR FRd & Both

follows conclusions Il and Il
follow

Had By | SFWRU d) Had FHY 11l SIIRUI

FRAT Only conclusion | FRaT Only conclusion

follows 1l follows

In a certain code language, 'CHILDREN' is written as
'FKLOGUHQ' and 'SCHOOL' is written as 'VFKRRO'.
How will 'CLASSROOM' be written in that language?
T fAf¥a ®s 49T § 'CHILDREN' &1 'FKLOGUHQ'
¥ U # forar orar € iR 'SCHOOL' ®Y 'VFKRRO' &
Fq ¥ forar Siar €, ot FHIE HTHT § 'CLASSROOM'® &Y
9 R forar s

EMCTTTQQO b) EMCTTURRP
FOEWWURRP d) FODVVURRP
Which of the following letter clusters will replace

the question mark (?) and complete the following
letter-cluster series?

¥ q $-91 R g vy w2 9
wfaefa e ok FAufaf@a sier-wqg T #t

TRT B

LE, OJ, UO, DT, ?

4 b) QY
PX d) PY

Select the correct mirror image of the given figure
when the mirror is placed at AB as shown.

W9 U1 F1 G 7T AR AB R IGT WTaT &, f &
T$ MPpfd & 91 ard g <uur ufafdg &1 I+
Hifeg

a)

c)

13.

a)

c)

14.

a)
c)

15.

a)

c)

16.

a)
c)

ey ey N
a @) 4 ¥4 @I @
o ) i
i d) v

Which two numbers, from amongst the given
options, should be interchanged to make the given
equation correct?

fow e wfiexur @1 wd s +33 & fog fig T
;éﬁ@;ﬁﬁﬁﬁra‘rmaﬁaﬁwmm

14 +39- (V144 = 4) + (5x3) - 6 = 63
14 3R 6 14 and 6 b) 53R 395 and 39
43R 34and3 d) 43R64and6

In a certain code language 'NULLIFY' is written as

'MFOLRUB' AND 'SKYWALK' is written as
"HPBWZOP'. How will 'FLAGGER' be written in that
language?

TP fAfYd ®Is UM § 'NULLIFY' &1 'MFOLRUB' &
¥ H fIrRar S\ @ $fiR 'SKYWALK' &1 'HPBWZOP' &
¥ # for@r oar @, O HHIE WY1 # 'FLAGGER' &1
fra yor forar srerm
VOZGTVI
UOZGTVI

b) UOZHTVI
d) UOZITVL

Two positions of the same cubical block are shown.
When '6' is at the top, which number will be at the
bottom?

U TATPR i 3t §) fRAfaar gxfs 18 &1 919 6
M vaw W g, d@ Ted N arelt vaw w® FE-H

3 d) 5

Select the option figure which is embedded in the
given figure as its part (rotation is NOT allowed).

39 Rabed TPy 1 T8 FINT ot & T arpfa &
U & & H Sud wfafed 8 (qufa 3 argafa 781 )

R~ AN\

[} (1 (1 [1A%]
| b) II
Il d) IV
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SCHOLARS ACADEMY

17.

a)
c)

18.

a)
c)

19.

Select the correct mirror image of the given figure
when the mirror is placed at AB as shown.

W9 gUUT $1 gRITY 1T SR AB TR ¥@T o1l &, at &t
TS STPTA & 7 a1t Fel gUor wfifews o1 9 31|

EHL )
»@4—

‘ ‘E ‘ =
»@»

| b) Il
i d) Iv

(~ |[( #

=] A
-G~ e

an [ avy

Select the odd group of numbers. (NOTE:
Operations should be performed on the whole
numbers, without breaking down the numbers into
its constituent digits. E.g. 13 - Operations on 13
such as adding /subtracting /multiplying etc. to 13
can be performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1
and 3 is not allowed)

Qe & RFd 9Hg T 999 gl {ie :
TEms ® 3P ged P! A faurfora fpu famm gof
TEra R Hfhare Bt W Aa1feul S4ERY & forg
13- 13 W HfpaTd WA 13 H SSA1/9eHI AT
fe forar o1 Fwar 81 13 A 1 3R 3 § s SR
?—\r 1 3R 3 W TR Tfrad w1 &t srgafa T8

)

18 - 329 b) 16 -263
14 - 201 d) 12-149
Read the given statements and conclusions

carefully. Assuming that the information given in

the statements is true, even if it appears to be at

variance with commonly known facts, decide which

of the given conclusions logically follow(s) from the

statements.

Statements:

All the medicines are capsules.

Some capsules are bangles.

Some bangles are toothpastes.

Conclusions:

I. Some bangles are medicines.

Il. Some tooth pastes are capsules.

I1l. Some medicines are bangles.

IV. Some medicines are toothpastes.

fau T HyAT ok fAwuf &I ufeul

A §Y 5 HuAl § § T TR 9 7, W §

T FU ¥ g aat R wde @@,

fuifta $ifve 5 g @ Al & & $H-a1

ggb‘cf FYAT PT AfPd FU A AT Bl
|

DY :

ot medicines, capsules ?I

P capsules, bangles %'I

P bangles, toothpastes H

g,a,,ﬁ,ﬁl,ﬁ

a)

20.

a)

c)

21.

a)
c)

22.

a)

23.

o -

I. P9 bangles, medicines gl

Il. PS tooth pastes, capsules H

I1l. ¥ medicines, bangles %'I

IV. 99 medicines, toothpastes %'I

Faa Ay 11 SR v b) PIs o e srERor A8
WU & &l Only &l gl None of the
conclusions I and IV conclusions follows
follow

Fad eS| R Il d) Pad [AwE | R
3IWU FRJ &l Only 3T HA &l Only
conclusions Il and Il conclusions | and Il follow
follow

Select the figure from among the given options that
can replace the question mark (?) in the following
series.
fau ¢ fawedl & & 9w SMpfa &1 w9 FHifvT =it
fFafafea e & vy i ) = sfownfia 3=
F@dt g1

— e )
L)) O(] A Dl @ ?

LN

®a %l ©d %¢

(U} (n n (avy

| by i
[ dy Iv

Select the option that is related to the third word in
the same way as the second word is related to the
first word. (the words must be considered as
meaningful English words and must not be related
to each other based on the number of letters /
number of consonants / vowels in the word)

I faped &1 999 & & IR U ¥ A R
Taiftra 3 o TR g¥RT W URd g A WEfia B
gt P 3rfqul Rish Rreg WY ST TRT R g
T gHY ¥ Wea! Wi A HeRY P HE/aqe-l /A
P BN & MYR W TP ga¥ A Tafua T8t g+
=IRY)

Kite : Diamond :: Ball : ?
Triangle b) Square

Round d) Pentagon

Which number will replace the question mark (?) in
the following series?

sigar ® HH-W "= uy g ()
gfowfia syt
10, 15, 25, 45, 85, ?
160 b) 165
170 d) 150

Select the correct combination of mathematical
signs to sequentially replace the * signs and balance
the given equation.
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SCHOLARS ACADEMY

c)

24.

a)
c)

25.

a)

26.

a)
c)

27.

far v Tftevur ot dgita $1 & fog + gl &
PP U § deaq & forw nfrdiy fagl & w6t
TS &1 999 B

11*%3*%11*2*9=10

X, -+ b) +x- +
+ +, 5 X d) x =+ + -
Select the figure that will replace the question mark

(?) in the following figure series.

I AP &1 gg= B o FAufaraa snpfa gaar &

uy g (2) o1 wfaafa sef|
Fad ° AN
o o \&
A fe) ° AN
(o] <7, \Y7 (@]
(48} (11) (1) (1v)
| b) I
1T dy Iv

If L x M means that L is the mother of M, L - M
means that L is the father of M, L + M means that L
is the sister of M, then which of the following
expression shows that R is the brother of P?

FRLxMBPTISEF L MBTAET], L-MBT3AS @
fPLMeETRUEe L-MPTAIEF L MBI IR,
AT AP T I gg eaT g TP R, P
BT HTS 87
P+R-Q
P+-Q-R

b) PxR-Q
d P+RxQ

[ GENERAL AWARENESS ]

In January 2023, which of the following state
governments has passed a bill to provide women of
the state the legal right of 30% reservation in public
services and posts?

Sast 2023 # Fufaf@ad & 9 59 w0 WReR A
g B Afgarat B grdwife Aaraif o ugi 7 30%
SREUT BT BT MUPR UgH o1 & e o
fadue uiva fear 22

AMATG Tamil Nadu b) & Kerala
JTRIGS Uttarakhand d) SR Rajasthan
Which of the following statements is/are correct

about the National Action for Mechanised
Sanitation Ecosystem (NAMASTE) Scheme?

I. It is a joint initiative of the Ministry of Social
Justice and Empowerment and the Ministry of
Housing and Urban Affairs.

1. The Scheme has been approved with an outlay of
Rs. 360 crore for six years from 2022-23 to 2027-28.
Select the correct answer.

a)

28.

a)

c)

29.

c)

30.

a)

31.

c)

32.

a)

33.

AYFA TRME BR APAEsS A sHIRed
(NAMASTE) Of5qT & ey # fgfafaa & 9 #14-
/A $YT G /87

I. 98 WIS A/ Ud S(feifvar wamed aun
SATARA 3R e FRf AT F TP WY U 2|
II. 2022-23 ¥ 2027-28 TF B dY & oW 360 HIS
I & Ufverd & 1Y 39 o1 P Hopt &1 T8 21
g SR BT TG BIfo|

&ad | | only b) ®ad Il Il only
| 3R 11 gFIBoth land Il d) a1 3R T & 1l Neither |
nor Il

Which of the following is a measure that examines
the weighted average of prices of a basket of goods
and services which are of primary consumer needs?
Fafafea & @ #19 a1 e U § &t axgsit SR
Jarsii B TH St Bt DAl B UG Sfd Bt &g
FRAT § o WATAS IuHiaarsi $t owal & 82

qfd I gaHid b) SdGH T YADIH

Wholesale Price Index Producer Price Index

JUNH T YIHid d) 378 9 Bls Tl None of

Consumer Price Index these

In which city was the meeting of G7 finance chiefs
held recently?

gﬁﬁvmﬁ?rug@ﬁawmwﬁamm

Hﬁ'ﬁc Mumbai b) TSUTH Gurugram
w Bangalore d) gaR Indore
Who has been honored with the ‘Lifetime

Achievement Award' by the University of Texas?
T fayfaene gRT AgwergH srdtadic @S’ d
fra wanfaa fear man @2

Xd CICT Ratan Tata
e wfgar

Mahindra

b) d fSigd Naveen Jindal
Anand d) ﬁav_‘\’l 3 T Mukesh

Ambani

In January 2023, which of the following became the
first state in the country to go fullydigital in its
banking service?

Sadt 2023 ¥, FofafEa & @ SF-a1 I uE
ST Tar & gt v | fEfrea 81 arem =1 &1 ygen
T § T

SIENE) g Tamil Nadu
PHich Karnataka

b) A Kerala

d) HERIY Maharashtra
Durga Puja is traditionally held for 10 days in the
month of

wwmwﬁ AT # 10 feAT & forw
STaiferd # Sl 81
b) FIfdd Kartik

ST Ashvina
d) 9T Vaishaka

UIY Pausha
Which Part of the Constitution of India contains the
'Emergency Provisions'?
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a)
c)

34.

a)

c)

35.

a)

c)

36.

c)

37.

a)

38.

a)

39.

YR & AU & 5T HUIT # ' SMuraeTe_ ey
e 82

YRT XNl Part XIlI
YRT XVIIl Part XVIII

b) HFTXV Part XV
d) HMRTX Part X

By mid-July, which of the following monsoon
engulfs the entire Indian subcontinent?

qars & e a@, Fafafad & § 999 &1 se-an
q grguf YRS ITHRTEY Y 319 B AT 82
JR-URH AFYA North- b) afémr-ufdm A
west monsoon South-west monsoon

IWR-Ydl AFYA  North- d) H&0-gdl AFYA South-

east monsoon east monsoon

Who among the following was the President of
Indian National Congress (INC) at the time of
independence of India?

fFrafafaa & @ $19 URd 9 Wadaar $ UG HRGOY
AP FHIUF (INC) F 3remes &2
Ot FUAF J.B. Kripalani b) SRR  d@  AE®

Jawaharlal Nehru

Ued d) IekE UG

Prasad

TEIHHTS
Vallabhbhai Patel

Rajendra

A low islands found in the tropical oceans consisting
of coral reefs surrounding a central depression is
called as

TH FEU Ay & U yara fufval ¥ gea
Swrefeddig HeTaIRI # UTg 9 aTat T frad g
I FT BT TG 52
YTl g9 I Atolls
CIdSHRHY Straits

b) SUINR Bays
d) TS Gulfs

Which of the following folk dance forms does NOT
belong to the state of Rajasthan?

fafafea & @ 9 91 a9 J9 I9RE Is9 I

YHY Ghoomar b) A Gawri
HIASfC™T Kalbelia d) JUE Chappeli
Akbar succeeded Humayun as Mughal Emperor in

which year?

T & 91 e fha aof et TyTe §41 U2
1526 b) 1546

1556 d) 1560

Match List | with List Il and select the answer from
the codes given below.

T 1 1 1 ¥ gAfera e ok e e e wis
T IR BT 999 Do

a)

c)

40.

a)

c)

41.

a)

42.

a)
c)

43.

List | (Country) | List Il (Mountain)
I- ltaly i- Aconcagua
- Morocco ii- Toubkal
lll- Tanzania | iii- Kilimanjaro
- AFQEI"IHI’IEI iv- Vesuvius
Codes:
i
| (@) | 3 (o)
l- gt i- SBT3
- ARGHT | ii- dIEPTd
- o= | jii- [ iR
V- SIS | iv- agfaas
BIS:
v
i; iy il iv; b) iv; i iii; ii;
i; il iy iv; d) v ;i i

Which of the following statement is INCORRECT
about Raja Rammohan Roy?

e & @ $19-91 FYF I I9HEGET I F
WaY & e 82

3% HRAIE GISTRUl &1 b) I UbaRale Bl JHd
SF% A ST g1 Heis  fBATl He  advocated
regarded as father of monotheism.

Indian Renaissance.

3 o TS & IWUE d) I Gar [ dudf & yord
d| He was the founder of Y| He was the pioneer of
Arya Samaj. anti-sati struggle.

Which of the following is NOT a constitutional body
in India?

frufafed & 4 $9-91 4R # te Jifdlte e
e 82

fad  emam

Commission

Finance b) YRd IBCIER] STNT
Election Commission of
India

I AHAIISR SN d) Y @i JdT 3T Union

National Human Rights Public Service

Commission Commission

In Football, what is the limit to extra time added?

%mﬁaﬁsﬁhaamaﬁ%aﬁaﬁvﬁmmﬁ@?ﬁ

b) 30 ffFe 30 minutes

d) ®IE A T & T No

limit

15 ffFe 15 minutes
45 fBFe 45 minutes

Where is the headquarters of Indian National Centre
for Ocean InformationServices(INCOIS)?
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a)
c)

44,

a)
c)

45.

a)
c)

46.

a)

c)

47.

a)
c)

48.

a)
c)

mm?ﬁuw@ﬂmm@mw (INCOIS) T
HSITeTd $81 82

RaRIETG Hyderabad b) T Goa

NS Odisha d) 393 Chennai
Traveling is a violation in which of the following
sport?

fFafafaa A 3 f5a @a A 2afe Iwra 82

Y Tennis b) Pedld Football

& Rugby d) SRl Basketball
Which of the following statement is correct?

I.Prophase is the first stage of karyokinesis of
mitosis.

Il.The complete disintegration of the nuclear
envelope marks the start of prophase.

ﬁaﬁr@aﬁﬁﬁqm/ﬁ$u=m€r%/§7

gafaenr ugeiRM (@i fRuem) & Fha
aﬂsﬁﬁ'\qmmw%
I1.$5P SMTaRVT BT Quf farae=T gafawar & goama &t
fIfa sxar 2|
&Had | Only| b) Had Il Only II
| 3R 11 GFBoth land Il d) Ta I 3R AG I Neither |

nor Il

Withwhom has the Reserve Bank of India launched
the Global Tech Competition ‘G20 TechSprint'?

YRt Red 9@ A frad Ty faer dea o

PR wi120 THTVic’ T Y3 B 82

g db World Bank b) e db 3 33T State
Bank of India

I IHHMS BRE d) §6 BRI

World Economic Forum YoaHey Bank for
International Settlements

The force exerted by gravity on an object is called

Rreht oY W TOEHYU GRT @ TG § B
SIS 2l
HR Weight
Tﬁ'l-ﬁtf Graveness

b) GUHIH Mass
d) YdUldl Gradient

Which of the following is the wrong fact about the
Surat Split?

a) It took place in 1907.

b) It announced the split of Bengal into East and
West Bengal.

Choose the correct Option:

TR faureq & IR § Fafafee & @ o9 a1 oa
q 22

a)u‘s'woﬂ?r'g'an?m

b) 399 ST &Y gd 3R Ui s ® fyuiia s
P U9 Bt |

gl fawew g

m(a) Only (a) b) ad (b) Only (b)
Gﬁ? ?(ﬁ:ﬁ Both (a) d) H’-ﬁﬂﬁ% All are Correct

& (b)

49.

a)

c)

50.

a)
c)

51.

a)

c)

52.

a)

c)

53.

In which state did Prime Minister Narendra Modi
inaugurate the Shivamogga airport recently?

T4 &1 & gy g A6t A e wew 9 Rawm
FATS3rE BT IguTe- fopam
Flcd Karnataka

3 3 QT Odisha

b) QT Telangana
d) de g Tamil Nadu

Which of the following is NOT an ore of iron?
FrafafEd § @ $19-91 die 3w T8 82
FHWISC Cuprite b) BHCIEE Haematite
TITIEC Magnetite d) TIZSIZT Siderite

[ QUANTITATIVE APTITUDE ]

What will be the
givenexpression:

3 U TSE FT WP TU R FI:
[(5a + b)3 - 3]

(5a + b + ¢)(25a%+ b%- c?
-c(5a + b))

(25a%+ b%+ c?+c(5a + b))

simplified form of the

b) (5a + b - ¢)(25a*+ b?*+
c?+ 10ab +c(5a + b))

d) (25a*+ b?- c*-c(5a - b))

In a competition, the average weight of 40 students
is 40kg.If 4 students do not participate in the
competition due to some reason, then average
weight decreased by 1. Find the average weight of
those four students.

T ufagifirar # 40 faenfial &1 3w YR 40 kg B
gfe 4 faemdf et FRuEw faaifar & v 7 a9
T at ot YR & 1 # o g ot 81 89 IR

faenfRiaY &1 ofd YR 39 PIvTE
64 kg b) 58 kg
49 kg d) 33kg

The pie Chart given below shows the production of
6 different factories. The totalproduction of all
these 6 factories are 22000. The production of a
particular factory is shown as a percent of total
production of all these 6 factories.

e fear mar gita RE 6 SIET-3ET FRET &
IdTe B g 81 37 9t 6 HREME! BT FA
e 22000 71 &t Te faviy sREM & Iared
Pt 39 Ot 6 FRETI & T IATGT & Ula=d & =7
¥ g=ifar T 31

P1 = A, C, D 3R F & 3NTd ITGH BT A
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SCHOLARS ACADEMY

a)
c)

54.

a)
c)

55.

a)
c)

56.

a)
c)

57.

P2 = B 3R E & 3G & ot &7 SieR

(P1 + p2) T A fHa1 82

P1 = The value of average production of A, C, D and
F.

P2 = The difference between the production of B
and E.

What is the value of (P1 + p2)?

2525 b) 6545

3525 d) 4565

AB is the diameter of a circle with centre O. If P be a
point on the circle such thatZAOP = 110°. Then the
measure of LOBP is:

¥% 0 91d U I BT T AB 21 9fe P g0 IR U fig
TYUPR & f 2AOP = 110° &1 LOBP BT HIU §:

50° b) 65
60° d) 55
x+1:—14,
If X and x < -1, what will be the value
1
2_—2
of § x2
x+l:_14y Xz_l
gie " x MR x<-18 @ @ T AA fHa
grm?
- 140V2 b) 112V3
- 11243 d) 140V2
The following table gives the subscription of

different schemes of a mutual fund company over
the months. (Rupees in crores)

Frafafaa oifteT e mgem s $ul Ft -
T Tl # HFIA-IR YRl (FeRhwA) &Y
G 81 (U0 FRIS H)

HEET | i a

VoW XY |Z

Haee (200(70 |30(290|10 |600

SfFgEY (120 (130 | 70 | 150 | 290 | 760

q99X |45 |35 |25|125|160 390

&HeT (160|110 40| 115|130 555

Fad |80 |90 |70|100| 140|480

TYEEl (130150 |30 (40 | 390740
feaaR 3R BRast & &9 AT X & Fewaar | faaer
IR B2

What is the difference in the subscription of scheme
X between December and February?

10 B S 10 crores b) 18 R S 18 crores
8 I S 8 crores d) 25 o S 25 crores
The distance between two towns is covered in 7

hours at a speed of 50 km/h. by how much should
the speed (in km/h) be increased so that 2 hours of
travelling time will be saved?

a)

c)

58.

a)

c)

59.

a)

c)

60.

a)

c)

61.

a)

c)

62.

c)

63.

a)

64.

AR F TP g 50 km/h Bl A@A 769 Hag
B STl 81 AT & GHY | 2 U Pl 99d B &b o

AT (km/h F) F fFa-t gfg &Y @ Tnfew?
70 b) 20
40 d) 30

428 x 428 x 428 + 348 x 348 x 348
The value of 428 x 428 - 428 x 348 + 348 x 348 js:

428 x 428 x 428 + 348 x 348 x 348
428 x 428 - 428 x 348 + 348 x 348 PHTH &

776 b) 62080
80 d) 40

In aAXYZ, XO is the median and XO =1/2 YZ. If

2YXO0 = 30°, then what is the value of 2ZXYZ ?
AXYZ ®, XO AT 3 X0 =172 YZ 81 3fe 2YX0 =

30° 8, Y «XYZ BT °19 =T 82
15° b) 90°
30° d) 60°

Se(:2A+tan2A-i 4 4 ns
17 then sec” A - tan” Ajs equal to :

Sec2A+tan2A=i 4 4
?Tﬁ' 17%,?1-1 sec” A - tan Amﬁ? RTER
®
13/17
4/17

b) 4/13
d) 5/17

A chord of length 40 cm is drawn in a circle having
diameter 50 cm. What is the minimum distance of
other parallel chord of length 30 cm in the same
circle from 40 cm long chord?

50 cm T aTd TP 99 | 40 cm Adl TH Siar @it
STl 81 40 cm @<t SftaT & UM g9 | 30 cm TS P
TP 3 GHMIGR SiaT $1 Faw g3t fea 82

b) 15cm

d) 20cm

10 cm
5cm

SupposeAABC be a right-angled triangle where 2A
= 90° and AD L BC. If area(AABC) = 80 cm? and BC
= 16 cm, then the length of AD is:

A AT AABC T THSHI Y §, STeT 2A = 90°
3R AD 1 BC 31 afg AABC FT &% = 80 cm? 3R
BC = 16 cm §, oY AD P &aTS &:

b) 24 cm

d) 12cm

10 cm
18 cm

If the 5-digit number 750PQ is divisible by 3, 7 and
11, then what is the value of P + 2Q?

Tf 5-3i@Ta T=AT 750PQ, 3, 7 3R 11 A fAursw 8, ot
P + 2Q BT A fraqT 82

17 b) 15

18 d) 16

By mistake, instead of dividing ¥702 among Ram,
171 1

Ramesh, and Naresh in the ratio3 4 6 it was
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SCHOLARS ACADEMY

a)

65.

a)
c)

66.

a)
c)

67.
a)
c)

68.

c)

69.

a)
c)

70.

a)

c)

divided in the ratio of 3 : 4 : 6. Who gained the most
and by how much ?

3702 P I, I R N & AT 1/3:14:1/6 F
3UTd ¥ Fied & oI T § 3:4:6 & UTd | qic
foar wan| frae) wad siftre iR fara=r ary gam
MM, 3158 Ram, 3158 b) |, 3158 Ramesh, 3158
W, %168 Naresh, %168 d) MH, 3168 Ram, 3168

3 men started a work. After completing 60% of the
work in 3 days, 2 men leave and only 1 man work
for the next 3 days. If again, all the three menstarts
working together, they can finish the remaining
work in:

3 U¥Ul A TP &0 3= fharl 3 &A1 d 60% &8 R0
FXA F 916, 2 YO BT BIS 4d § MR T 3 g1 &
e Fad 1 U FW Far g1 afe fbw |, 9 gew
TP 1Y HTH HIAT Y& Hd 8, a 3 A S $I
o R § 1 o2 wPa &2

2 &9 2 days b) 2.5 & 2.5 days

171 day d)y 15715 days

If three-fourth of 60% of a number is 34 more than
one-third of 50% of the same number, then find the
number.

gfe fesdt T= & 60% BT 3/4 UNT UM W &
50% & 1/3 HRT 34 3P &, A BT JId BIfoC|

120 b) 100
90 d) 80

T m
16cos® — - 12cos —=?

6 6
0 b) 2

d) -1

What is the single percentage discount equivalent

to two successive discounts of 15% and 5%?

15% 3R 5% B S AN e P T & SRR & 91

aTelt e wfawd ge o]
19.00% b) 19.25%
18.00% d) 18.25%

A horse was sold for Rs.60,000 at a profit of 20%.
For what price should he have sold to gain a 30%
profit?

TP OIS Bl 20% & ATH W 3.60,000 H ST TATI 30%
FT AH YT H & o 3 "9 31 fory dia w®
ST TR U

2. 64,000 b) . 65,000

2. 50,000 d) %.55,000

Decimals in irrational number are-
AT We ® g3rTed §-

R- Rt Non- b) R- 3l Non-
terminating recurring

(1) 3R (2) aFiBoth (1) d) @ (1) TT (2) Either (1)

71.

a)

72.

a)
<)

73.

a)

c)

74.

a)
c)

and (2) or(2)

If cotB = 9, then what will be the value of sec’B?
IfE cotB = 9 B, Al sec?B BT A fHd=T g2
98/81 b) 92/81

42/81 d) 82/81

A hemispherical bowl made of iron has inner
diameter 84cm. Find the cost of tin plating iron on

22
ke =5
the inside at the rate of ¥21 per 100 cm? take =)

correct to two places of decimal.

e T 9 Tp AFNATPR PR BT Aiae AT 84
cm 81321 Ufd 100 cm? B 5T A PR F 3R P 3R
foq 9eM@ & T smavus «ie & @Fd (@) SIHAd

22
, _22 g
swam gaatm 7
232848 b) 242548
24256 d) 235548

D and D' are the diagonals of a rhombus. If D/2 is
14cm and D'/2 is 26cm, then the Y2*(Area of
Rhombus) is

D 3R D' T& wHugys & fawul &1 afe p/2, 14em
3R D'/2, 26cm B, A v2*(@HAGYS BT &TFa) 8-
1456 cm? b) 728 cm?

182 cm? d) 364 cm?

The pie chart given below shows the population of
8 cities in a year. Total population of all the 8 cities
is 30,000. Population in a particular city is shown as
a percent of total population in all these 8 cities.

= far INE TP a¥ H 8 el B
SEE B 21 9t 8 =eRt @ o SEEn
30,000 §1 fHeft faxiw R &Y S &1 39 Wi 8
%I?ﬁ I pa FTHEEN & yfaxd F = § gxitar v

|

What is the average population (approximately) of
cities C3, C5 and C7?

MER €3, €5 SR €7 Tt NG TAHEAT (W)
fraht &2

1200
1600

b) 1800
d) 2000
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75.

a)

76.

a)

c)

77.

a)

c)

78.

a)

c)

79.

a)

c)

80.

c)

81.

a)

[ ENGLISH ]

What is the largest common divisor of the numbers
1026, 2268 and 2430?

1026, 2268 3R 2430 TEATSH BT WgTH FHAITAD
182

108 b) 54

81 d) 27

Select the option that expresses the given sentence
in passive voice.

Do you want a pencil?

Has a pencil wanted by b) Is a pencil want by you?
you?

Was a pencil wanted by d) Is a pencil wanted by
you? you?

Select the option that can be used as a one-word
substitute for the given group of words.

Large cage or building for keeping birds.

b) Stable

d) Aquarium

Kennel
Aviary

Select the option that expresses the given sentence
in reported speech.

"l was unable to book any restaurant in this area,”
said my brother.

My brother says that he b) My brother said that he
had been unable to book has been unable to book
any restaurant in that any restaurant in this
area. area.

My brother said that he d) My brother said that he
had been unable to book has being unable to book
any restaurant in that any restaurant in that
area. area.

Select the most appropriate meaning of the given
idiom.
It's all Greek to me

A new experience b) Buying different things

which don't have any
purpose
| cannot understand d) Having no knowledge of
anything current fashion

Select the option that can be used as a one-word
substitute for the given group of words.

A number of whales
School

Pack

b) Flock
d) Team

Select the option that expresses the given sentence
in active voice.
This job can be done only by Ramesh.

Only Ramesh can do this b) Ramesh can only do this

c)

82.

c)

83.

a)
c)

84.

86.

a)
c)

87.

a)

88.

a)

89.

job. job.
Ramesh only can do this d) Only Ramesh could do
job. this job.

Select the INCORRECTLY spelt word.
Aislle b) Mischief
Subtle d) Committee

(83 — 87)Directions: In the following passage, some
words have been deleted. Read the passage
carefully and select the most appropriate option to
fill in each blank.

__(A)_ word 'scientist’ is a general term, used to
describe someone who researches and examines
various aspects of the physical world _ (B)__ attain a
better understanding of how things work and
function. There are _ (C)__ specializations of
'scientist’, and depending on which field of study
one chooses to follow, the work can vary _ (D)_.
Each scientist, however, _ (E)__ ‘'the scientific
method’, which is a strict set of rules that ensure all
new discoveries are factual and not just speculation.
Which of the following words can replace the blank
marked as (A) in the passage?

A b) Neither
The d) An

Which of the following words can replace the blank
marked as (B) in the passage?

of b) here
in d) in orderto

Which of the following words can replace the blank
marked as (C) in the passage?

b) Themself
d) Many

Ourselves
Yours

Which of the following words can replace the blank
marked as (D) in the passage?

b) Greater
d) Greatest

Greatness
Greatly

Which of the following words can replace the blank

marked as (E) in the passage?
Follow b) Follows

Flow d) Flows

Select the most appropriate ANTONYM of the given
word.

Scarce
Meagre b) Rare
Abundant d) Sordid

Select the most appropriate ANTONYM of the given
word.
Detest
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a)

90.

a)

c)

91.

a)

c)

92.

a)
c)

93.

a)

c)

94.

a)

c)

95.

c)

Immense
Waste

b) Clumsy
d) Admire

The following sentence has been split into three
segments. Ildentify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.
Neither of the four clerks/ could confirm the
whereabouts/ of the manager.

Neither of the four clerks b) could confirm the
whereabouts
of the manager d) No error

The following sentence has been split into three
segments. Identify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.

If we examine carefully, we can/ conclude that the
new prototype will be/ the best of the two devices.

If we examine carefully, b) conclude that the new

we can prototype will be
the best of the two d) No error
devices

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

A number of students is not present at the
assembly hall.

Many a students are b) Allstudent are

No improvement d) More than one student is
required

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select ‘'No improvement required’.
Supposing that the doctor tells us to come soon, we
will book our flights immediately.

Supposing if the doctor b) Supposing that the
tells doctor told
Supposing if the doctor d) No improvement

told required

Select the most appropriate synonym of the given
word.

Dislodge
Plant b) Stay
Accompany d) Remove

Select the most appropriate option to fill in the
blank.

going to be the topper in the upcoming
semester.

It is | whoare b) Itis | whoam

It is me who is d) Itis me who am

96.

a)

c)

97.

a)

c)

98.

a)

c)

99.

a)

100.

a)
c)

Select the most appropriate option to fill in the
blank.
I picked up the book and it in my hands.

b) broke down
d) cut down

came apart
called off

Select the most appropriate synonym of the given
word.

Hind
near b) rear
first d) front

Select the most appropriate synonym of the given
word.

Earnest
Indifferent b) Thwart
Ardent d) Succinct

The given item in this section consists of a sentence
the parts of which may or may not have been
jumbled. These parts have been labelled P, Q, R and
S. Given below the sentence are four sequences
namely (a), (b), (c¢) and (d). You are required to
arrange the parts of the sentence and mark the
response accordingly.

The Aarhus University team are the first

P. in Egypt and the Levant

Q. during the time of the Roman Empire

R. to develop a technique to differentiate between
S. clear glass manufactured

The correct order should be

PQSR b) RSPQ
QSRP d) PSQR

Sentences of a paragraph are given below in
jumbled order. Arrange the sentences in the correct
order to form a meaningful and coherent
paragraph.

A. Also, never wash or dry it on high heat.

B. Avoid tossing it in for every stain or blemish, spot
clean whenever possible.

C. Then, you will have to wash that, instead of the
blanket itself.

D. The best way to wash a weighted blanket is to
get a removable cover for it.

PQSR b) RSPQ
QSRP d) PSQR
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